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Which of the following statements is/are correct about Unified District Information Sy
Education+ (UDISE+) ?
n Systems initiated by the Department of

I UDISE+ is one of the largest Management Informatio ‘
School Education and Literacy, Ministry o{,l':‘iducation, Government of India.

IL. The entire system is online and has been cbffecting data in real-time since 2014 — 15.

III. UDISE+ information is utilized for planning, optimizing resource allocation and implementing
various education related programs and as8@ssing the progress. :

Select the correct answer from the following : LN

(1) Only II and III are correct &b) Only I and III are correct

(8) OnlyIis correct (4) OnlyIand II are correct

Qi@ i (S oT9d), a9 s (Sife), Suafeat (wfiaden) it s dsfem fawem
(PRABANDH) foraeh 37aiia s1mar @ 2 '
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(2)  I=R Toen faym, fren w=eE, NG TR

(3) @y faam

(4) Toa wareE, wRa GR :‘B
Project Appraisal, Budgeting, Achievements gid Data Handling System (PRABANDH) is under
(1) Rashtriya Uchchatar Shiks:ha Abhiyan (R@A;

(2) Department of Higher Education, Ministrypf Education, Gol

(3) Samagra Shiksha L

(4) Ministry of Finance, Gol H

frefifiad § @ S @ atumg 2 2

(1) FqeH (2) Ffcarm () oifIrm (4) Qﬁﬁﬁ'&q

Which of the following is a non-metal ?
(1) Sulphur (2) Calcium . (3) Magnesium (4)  Aluminium
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Consider the following statements : 0 s
I.  As per the Constitution of India, the numbhr‘!of seats 85 |
jya Sabha to both, States ang the

Sabha is the same. . the Rajy
II. As per the Constitution of India, seats are{aﬂocated .

Union Territories. L0

4

Select the correct answer from the following : ;; &
(1) BothI and II are correct.

(2) TIis wrong, but II is correct.

o each of the States in the Rajya

. (3) Neither I nor II is correct.

(4) Iis correct, but II is wrong.

uiE 3, Mmmmmﬁ@mﬁwﬁﬁm% | Fefafed & & @b
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(4) =g gHiem e

In India, the judiciary has the power to strike down laws

as . i
following concepts explains this power ? Passed by the Parliament. Which of the
(1) Doctrine of ‘exception’

(2) Appellate Judicial System

(3) Judicial Activism

+(4) Judicial Review

ﬁm%ﬁaaﬁ‘&%@twﬁwazozaaﬂmﬁtmwm
(1) {arw fagaa \_,(g}ﬁﬁ_hq ﬁ?mwm9

(3) e T (4) %ﬁ

+ Who among the followmg was posthumously awardeq the i %@q

(1) Mulayam Singh Yadav _ ©) B Mg a Vib,
‘ ush for 2023 ?
(3) Rahul Bajaj (4) Pin Ra"'"at an Award or
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According to the N ational Family Health Survey, which of the following bealfh mdlcators has shown

an increase, in the survey results of 2019 21, compared to 2015 — 16, as per the Economic Survey of
India 2022 - 23 ?

(1) Children under 5 years who are underweight
(2) - Children under 5 years who are stunted

(3)  Children under 5 years who are overweiggg

3, 2000 - 21%aﬁmﬁ5qﬁﬂﬂﬂ’lﬁq@@ﬁ§‘1‘§%"

(4) Under-five mortality rate f—J\}
ST ST q ‘Fﬁk =g’ (Harbour Waves) i fﬁ I F AT ST % ?
THH (&) ~(2) G
p(s) TS qEM (IEH) H IshdTd
‘Harbour waves’ are known as ,in J; apanese'langhage.
(1) Hurricane - - (2) © Tsunami
(3) Typhoon (4) Cyclone

25 W% ¥ 3 I, 2023 % &9 mﬁa@ﬁwmﬁwﬁﬁnﬁ—r@aﬁﬁaﬁqm{ﬁaﬁﬁ
gaifees gear § @l ges o 2
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(3) o gfraRi, e ]y o PRI, =g
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Among the following Universities, which Uniyersity won the highest number of gold medals in the
Khelo India University Games, held between May 25 to June 3, 2023 ?

(1) Jain University, Karnataka (2)  Guru Nanak Dev University, Amritsar

(3) Punjabi University, Patiala 4) PanJab University, Chandigarh
mqﬁaﬁqﬁwﬂﬁmcccm 2023 ¥ f=fafas § 4 9.3 G20 N T Yesly wad areel @
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(1) gfeor wifen ' ' 2 w9

(3) WRd (4) HATST

Index (CCPI) 2023 ?
(1) South Korea ‘ @ R

(3) India _ (4) Canada
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(3) 4 Frft eferorafeam 3 then turns towards East ang driveg

A man drives 10 km in South direction fmm-hlS offic® , How far and in which direction ; 18 he
4 km. From there, he turns towards North and: anes

from his office ? gouth- -West

(1) 5 km South-East (2) uth -East

(3) 4 km South-West 4) N Fa5 Wt B 3k Tt
féu My s #_129% 3 wefwai § S e sf E, 14%“%%%6@%;?%%
&t 7w At # | 8% @ sl & o formell o M
_ EGED
feremeff

W%W

(1) 72,74,70 (2) 80,78,76 (3) 64,74,80 (4) 64,66, 62
In the given figure, 12% are those girls who are students too, 14% are students who are dancers too

and 16% girls are those who are dancers too. 8% are the girls who are both students and dancers.
What percentage are only girls, only students and only dancers ?

V%W

#15332963

Dancers Girls (|
m
™M
LSS
(1) 172,74,70 (2) 80,78, 76 43# 64,74 g
0. (4) 64, 66, 62
% &1 & fore srg / SPA—'EEFW\
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. . £ have differ n.t hobl_nes — Singing, dancing, painting, writing and
g‘;vg fnincis Al. 'B,tl?e‘ Bmil:grdel' A’ and (@) like neither singing nor dancing. ‘B’ and ‘E’ do not have
wing, but not in S¢ :

! 1 th £ writiggjand se‘_ving are not the hobbies of ‘A’. ‘D’ and ‘E’ are not
_the hobb:ea_: of painting and se.ﬁlngp, does If0t like singing. What is the hobby of ‘C’ ?
interested in dancing and sewIng. i

(1 Danting (2) Writiog i (3)  Sewing (4) Painting
e S . Rfie et 3 o @1 @ Rl 5 qwitan 7 R, for @ @ frewd 19 11 fawmg
HT i

1. M<O=N<E>Y ~

2. S>A>C=D2N

=5y -
I. 0<D
II. A>M

(1) e 19 1A g §
(3) 1 at sy 1 frsed 11 T @

(4) Fae frewd 1 T R
In the following question, a relatioﬁsﬁip ween different elements is shown in the statements,
followed by two conclusions I and II Asguming the statements to be true, decide which of the
conclusion(s) is/are definitely true. { '

Statements :

1. M<O=N<E>Y
2. S>A2C=D=z=N
Conclusions : '
I. 0<D

II. A>M

(1) Both concluslionsll and IT are trye
(3)

(2) Faa fsrd 11 T R

2332863

X : 2) Onl Jusion [T is t
Either conclusion I or conclusion [t is tﬁe o R

(4) Only conclusion I is true
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, A0 ) ‘1" is ‘K’q mother; then how jg ¢
If ‘0" is ‘M’s daughter; ‘N’ is ‘O’s brother; ‘K’ is ‘N’s , father e H

o ol
. ’ ..)
related to ‘M’ ¢ M H}";@’ i (4) Mother
(1) Mother-in-law (2)  Sister 'f"\{rn Slstel' -in-

:ﬂ%@mﬁaTW%mmmamaqhﬁ” @aﬁfﬂﬂﬁammélﬁﬁq%

o6 IA1/8 FH T H IV R v B

FIYT Ak

I. 2a+2b=4-2(a-b)

II. a+3b=2a-2

(1) 2 U 13 11 39 T 1 I 23 3 forg ommawd ¢ |

@ F I S A T IR Y B foru e 2, o FA 1 3T T HT I F forw e
TRIE |

(3) m?ﬁmlaﬁtﬁmmnmmwwaﬁ%mm% l

(4) Wlmﬁmmm%%mm% R B 11 3Tl I3 1 IW A & fon i
TR =)

Given below is a question followed by two gtgtements numbered I and II, each containing some

information. Decide which of the statement(s)}i¥are sufficient to answer the question.
i

What is the value of a ? i
Statements :
I 2a+2=4-2(a—b) .

II. a+3b=2a-2

(1) Both statements I and II togethel; are necessary to answer the question

(2) Statement II alone is sufficient to answer the questmn while statement I alone is not sufficient
to answer the question.

(3) - Either statement I alone or statement II alone is sufficient t, answer the question.

(4) Statement I alone is sufficient to answer@e question, while statement II alone is not sufficient

to answer the question. (@)}
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Given below is a question followed by two staté%nen'ts numbered I and II, each containing some
information. Decide which of the statement(s) is/gr¢ sufficient to answer the question.

The sum of ages of A, B and C is 65 years. What ig:i;ls’s age ?

. L
Statements : ol
I. Bis 15 years younger than A, H:

II. Cis 40 years old.
(1) Both statements I and II together are necessary to answer the question.

(2) Statement I alone is sufficient to angwer the question, while statement I alone is not sufficier!
to answer the question, ’
(8) -Efier gtaisinetlicLelonelor statement IT alone is sufficient to answer the question.

(4) Statement I alone is sufficient ¢, answer the Guestion, while statement II alone is not sufficie®

to answer the question, N
~
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ed by two courses of action, numbered I and II. It is

In the question below is given a statement foillcgw
decide which of two given courses of action

assumed that everything in the statement is{tfue. Then
logically follow(s) for pursuing. 12
Statement : . ‘““

Despite the RTE Act, many children are still jl'prived of education.

Courses of action :

I.  Government should ensure the enforcement of RTE Act. -

II. Parents of educationally deprived children should be punished.

(1) Both I and II follow for pursuing.
(2) Only II follows for pursuing.
. ia)
(3) Neither I nor II follows for pursuing. :E
(4) Only I follows for pursuing. f;{} S ey
e i A0, R
T wrd & felg e /csvnce FOR ROUGH WoRK
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Two statements are given below and they are la(%lled as Assertion (A) and Reason (R).
Assertion (A) :

Adrenaline hormones are also called emergency rmones. -

Reason (R) ;

Adrenaline increases metabohsm of carbohydra S to provide instant energy.

Select the correct answer with the help of the code given below : '
(1) (A)is true, but (R)is falsg,

) Both (A) and (R) are true, by g, .
(@) (A)is false, but (R)js try, -

(4) Both (A) and (R) are s. W,
) are true 2nd (R) i5 th correct explanation of (A).
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ﬁmf%ff@ﬁmﬁ,ﬁﬁaﬂﬁi@aﬁﬂmﬁﬁu-WﬁaﬂW‘m%’ﬁsg?/ﬁ?wNII%Q“Q
2 twﬁaﬁmmg,ﬁmﬁmﬁﬁqﬁq@/aﬁﬁ{mﬁ ;

o BRIt

1. F<I<B=R<E M

2. L<O<F2A>T ™M

fre -

i 'T=R +H

II. L<B ' : ) :

(1 Fred 19 11391 g § @) a,—aaﬁ,ﬁ*‘fﬂm%
3) =t e 1 frewd 11 we 2 (4) syt Pl 1 9 2

rent elements is shown in the statements

In the following question, a relationship between diffe :
to be true, decide which of the

followed by two conclusions I and II. Assumiifg the statements

conclusion(s) is/are definitely true. g

. Statements : N
1. F<I<B2R<E (%)
2. L<O<F=2A=>=T IFE
Conclusions : v

I T<R H:

II. L<B _
(1) Both conclusions I and II are true (2) Only conclusion II is true
(3) Either conclusion I or conclusion Ilistrue  ,(4) Only conclusion I is true

TR T T T e v (frarem) g R & S R, S 36 WA 5 R
%ﬁwqﬁnﬁﬁtmﬁmm%,m%ﬁsﬁﬁQ%|Wé‘»m%m?ﬂ§3ﬁt
et 2 i 1 Fopelt Tt e e @ @ o aeff & o 11 el i ot e I R g
3 | 3o Frated 39 T U fohadl o @ fopm fammidt e 2 1.,

(1) 4 fF gt W sfEh chmafRm

3) 5 Tt gfeqor.gd ) 4 g

Sonali drove her son to his school towards SloufHE which is 5 ki away from her house. From school,
she turned westward towards the market, which is 8 kxﬂ'ab&y'fmm‘ schodl. After the market she
turned to her right and drove 1 km more and then took.a right turn again and covered 11 km to
reach her office. How far and in which directign is her office frﬂm’iie;- h.'(;uée“?

(1) 4 km South-West 3 2)  5km South-West ‘

(3) 5km South-East (4)  4km South-East

—__--"""-—-__
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] tionship between mothers,
t represents the rela _ A
Identify the diagram that bes ;
post-graduates.

By
' ‘ ' M)
(1) ' @D
3) @ A, Mm@ Cm
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A47U, B45R, E410, ? , Q271, Z17F
(1) J38E (2) H35L (3) J35L°

. A47U, B45R, E410, 2, Q271 217F |

(1) J38E (2) - H35L, 7 (8) J35L (4) H38E
24, G'HH'@ITEFIW%Q @rmﬁg(?)qﬁsﬁwﬁaaﬂaﬁt?ﬂﬂé T 1 o et A |

5,18,39,68,7,150 - ™M '

@ 115 @ 5 {‘P, 3 120 @ 101

Select the number that repla ces the queétlo

q}_{nark (?) and completes the given series.
9, 18, 39, 68, ?, 150 :

1) 115 ° @ 105 . @ 120 - @ 101
\ i
o o
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JB U P,Q R, s T U,"V"'aﬂIN?ﬂIﬁ?nEﬁraﬁtg‘Eﬁ%
R AH WA | g N' % gt 31R DY vy qr 2t d |

A QST % TS § | N, P A i sy T
(1) S © N i i
Eight birds P, Q, R, S, T, U, V and N are Sittn%gi:l a r(:w facing North. ‘T" is f(lturth to the left of p,
‘S’ is fourth to the right of ‘N, ‘R’ and ‘U’ are ndt:l'itting at the ends, ‘but are nel‘g}:bours ‘.’f‘Q’ st e
respectively. ‘N’ is next to the left of ‘P’ and ‘[;(:‘T% the irlm'!.ediglte neighbour of 'Q’. Who is sitting on
the extreme right ? 1A

< S N, M, Q S P 7en S A, B, C it p e e A B A I TR A 4
& 1S QT S Q) e wa T A ep»,‘p’aﬂi‘c’a”ﬂa’ M HH AT R A,
o N3 O3 T 4 2 | B, QS a oi Adh 2 SN P A ST AR T W R | i
B'% o DI F3T R 2

1 Q 2 M {3), P
Four doctors N, M, Q and P and four nurses A, B, C and D are sitting around a circular table facing
each other. No two nurses or two doctors are sitting side by side- ‘P’, who is sitting between ‘D’ and
‘C, is facing ‘M’. ‘A’ is sitting between ‘M’ and“f¥’ and facing ‘C’. ‘B’ is sitting to the right of ‘Q’ and
third to the left of ‘N’. Who is sitting between ‘ﬁg%nd ‘B'? :

1 Q 2 M :‘_qus) P o 4 N

e A+B& 34 2 5 ‘B, A Ul 7,
A—_ BT a7 R 5 ‘A, B AT 7,

AxBHE FH 3 FABFEE,
a1 & 7 srfireafss # P, s @ fFE e FeiE R 2
PxQ+R-S
(1 fom (2) W (3) = WS /Ry @ T

4) VvV

4 Vv

4 N

#15

i’

If A+ B means that ‘B is the wife of A’,
A — B means that ‘A is the mother of B’, i
A x B means that ‘A is the son of B, O
Q3 3 2
then how is ‘P’ related to ‘S’ in the given expres%n 2
PxQ+R-S ™M

(1) Father (2) Brother (% Cousin &) Son
L SETR I

S v
7 @ o g e / SRACE FOR Rougy WORK
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28, weA i 9w fu e §, R :mmﬁqé’t ugﬁﬂhmﬁmmﬁ“ﬁﬁﬁﬂﬁﬁw
TE B, Eﬁaﬂwmwg|

wﬁmﬁmmﬁﬁm% g
1 mﬂmmﬁﬁﬁﬂgl t“q
2. Mmmﬁﬁﬁgl ﬁm-)
A - _ "%"

I 5379 =afs sATE e |,

(1) e 13 112N e € |

@) Fad e nfRwaa !l ‘

@) a1 a Frewd 11 ey 11 A & | -
4) hae fewd 1 e 2 |

Two statements are given followed by twqrgonclusions, numbered I and II. Assuming that the
information given in the statements is true, ﬁ’n if it seems at variance with commonly known facts
decide which of the given conclusions logicallpypllow(s) from the statements.

Statements : . - s .
1. All teachers are good human beings.
2. All teachers are honest people_. 3o

#153

Conclusions : :

I.  All honest people are teachers, |

II. Some good human beings are teachers.

(1) Both conclusions I and I follgy,.

(2) Only conclusion IT follows, -

(3) Either conclusion I or conclugjy, 11 follo @
(4) Only conclusion I follows, -

miw e

BPACE FOR ROUGH WORK
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(15) ,
?ﬁ?ﬁ%waﬂwmqﬁ?ﬁmglgﬁ' ' . i,
e, I, W@@Uahmﬁ%ﬁq%w# o
(i ﬁﬂammmwﬁmm%aﬁgw,ﬂgﬁmaﬁm

(i) Waﬁtmﬁ@”ﬂmqﬁﬁmmmm
L)
(ii1) mﬁmmeaﬁﬁmﬂm,ﬁﬂwa@1

“ﬁmﬁﬁmm%,ﬁﬁwﬁﬁgﬁmﬁmaﬁﬂaﬁﬂmmm?
(1) 3 IR el _
@) B« I TEEN
(3) HE 3N M
(4) el 3N M

A combination of three fruits needs to be chos€®) The fruits must be chosen from seven fruits —
Banana, Apple, Custard Apple, Gooseberry, {ﬁneapple, Plum and Mango on the following
conditions : L

2963

(i) If Apple or Mango is chosen, the other one must also be chosen.
(i) Custard Apple and Pineapple cannot be chosen together.
(iii) Either Custard Apple or Mango or both must be chosen.

If Pineapple is chosen, which of the following other two fruits must also be chosen ?

(1) Mango and GooseberTy

(4p)

(2) Apple and Plum Vo)
(o))

(3) Apple and Mango g.]’
(4) Banana and Mango m

- —

o rd % ferg <TE / SPK&E FOR ROUGH WORK
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30 3 3 o fag 2 mg—gaﬁmm)aﬂtm&m)ﬁ:wﬁmﬂm%l

Assertion (A) : | ' LA

ST (A) :
T A T 3 Soerge o e L S & (Y
TE®
e fomq 1 gare # | H

2 i Tu e i wEEar @ TR IR H T HI :

(D (&) T R, T (R) T B |

@) (A)aﬁt(R)a‘rﬁHﬁ% W(R},(A)iﬁﬂﬂm 787 ¢ |
3) (A)nm% 9] (R) H& 2 |

4) (A) 3R (R)THT F& & 3R (R), (A)ﬁﬂ@ﬂ@%l

963

1533

Two statements are given below and they are %Jelled as Assertion (A) and Reason (R).

™M

Graphite is used in designing of carbon paper.g-

Reason (R) : ‘

Graphite is a good conductor of electricity.

Select the correct answer with the help of the code given below :

(1) (A)is true, but (R) is false.

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is false, but (R) is true. {8

(4) Both (A) and (R) are true and (R) is corregexplanation of (A).
[am)

% &4 & forg g / {ﬂ\cs FOR ROUGH WORK
i
H:

v (i _ !
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W I/ Part 11T

3s ?ﬁl?ﬁ T T/ Knowledg® of CWT
?
ﬁtﬂ%{ﬁ‘aﬂ H Y ®H-H1 Uy Sk hﬁlél au T3V (web browsel‘)ﬂ o

%) 32‘@3 W‘?‘ﬁf{ (nternet Bxplorer),

1

(2) th'%?ﬂ BRTEGIFY (Mozilla Firefox) o

(3). HISHIRT Ty (Mircrosoft Accoss) '

v, 3
(4) T Eae| (Google Chrome)s—

Which of the following is not an example of a popular web browser !
(1) Internet Explorer

(2) Mozilla Firefox

(3) Microsoft Access

(4) Google Chrome

FfrH™ W T {98 (MS Windows) ﬁt%[émq%-ﬁg mﬂﬁ:ﬂ’m@aﬁ(ﬁmm
Wﬂ‘aﬁ’waﬁﬁﬂﬁﬂ%ﬂ\@ﬁﬁmﬂﬂﬁﬁﬁwwﬁﬁ ST F-1 8 2

il e
gy Ctr1+C3ﬂ'{Ctrl+V @)} A]t+C3ﬁtAlt+v
(3) Ctrl+ V3R Ctrl + C @) Al +V3IAL +C

The most popular combination of ‘shortcut keys’ -ﬂ) ‘copy’ some selgcted bext and ‘paste’ the same st
some other location in most of the MS Windows applications is :

(1) Ctrl+Cand Ctrl +V (2) Alt+Cand Alt +V
(8) Ctrl+VandCtrl+C ' (4) A1t+Ya_ndAlt-l'—C

@ﬁw%loommﬁm@ﬁmﬁﬁmmmﬁﬁﬁﬁﬂ % fau ws
@—m%m ﬁaﬁgﬁygﬁaﬁm@mﬁaaﬂtmﬁﬂﬁﬁw@ %, PR
Q?:W ﬁﬁl'ﬂ'( (Adobe Premiere)

(2) ued GhIAe (Adobe Acrobat)
(3) TUH Uy qrataige (MS PowerPoint)
J4- T TH TEEd (MS Excel)

Which of the following software is'generally preféx!red most to create a tabular sheet to store marks
scored by 100 students of a boarding house in the last few examinations for some basic statistical

and graphical analysis ?

(1) Adobe Premiere .

et b oo ahl e i
TR L i

153329

" (2) Adobe Acrobat

(3) MS PowerPoint

(4) MS Excel M
Fort virn et 1 O TSS E GRCA I e R B g
A1) pat - (2) .doc @) .wav @) ipg
Whlch of the following is oné L ﬁle ﬁeﬂsmna of an j xmage file ?
(1) .pdf (2) .doc Pl 4) jpe
':t-_t:
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35. Fieffaa § & M S ) wwE aS (MS Word)
(1) TH TH UFHH (MS Access). - | (4) T TH TR (MS Excel)

(3 T og fEiw (MS Windows) .
: p'ulm' example of an Operating System ?

(2) MS Word
(4) MS Excel

-

“‘Thich of the following is a po
(1) MS Access
(3) MS Windows

36. TRl wrw #, ROMF T E L
(1) Random Optional Memory, -
(2) Read Oriented Memory :
(3) Random Object Memory
\(’4) Read Only Memory

#15332963

In computer terminﬁiég'y,: Rﬁ'i\«i"éltéhds'for :
(1) Random Optionai Memory ‘

(2) Read Oriented Memory A

(3) Random Object Memory

(4) Read Only Memory

37. agwmwrrmam(mﬂwm},%ﬁﬁmwwéaaﬁzm@%wﬁmm

3) TSR (Spyware)

at |
We download onto our smartphones, disguised as a legitimate ar

our smartphones to ¢ ; e
data security amage, steal or in general inflict s

useful app, but usually take
other harmful action on ou

(1) Adware .

(3) Spyware N _ (2) ' Trojan
38, ﬁrmf%iﬁa'aig-ﬁaﬁq-mqq; >
()5 R (Plotter) '. TR 2
A ,_‘E}.: T ‘.SF?"HEf') .‘  () I (Mike)
Which of the following is pgg g vA4) TR 3 (Light Pen)
(1) Plotter : ‘_“Pnt device ?Zﬂ' ¥
(3) Scanner s o 95, Bk
7 ike

(4) Light Pen




o 3 HWA~2023"'CB
Eiﬁi praferias B 8 - v il ARG (search) 3 ﬁgg)
(1) 31§ (Yahoo) TS .%%,(2) L (Acce
@) TS (Google) (N 4 fim (Bins) - il
Which of the following is not an e\nn}hlc n{'lrﬁipulur web- b“ sed peers
(1) Yahoo @) Access
(@ Google i (4) Bing

0. el H, DVD T 0 4 R :

(1) Digital Voice Disc (2) D;gitalve

(3) Dual Versatile Disc (4) Dual Vide© Diec

tile Disc
rsa -

In computers, DVD stands for :

Digital Versatile Disc

(1) Digital Voice Disc 2)

(
(3) Dual Versatile Disc (4) Dual V’ideo DISC

32963

. Few s S e g ﬁwmﬁ&ﬁﬂﬁ%rﬁﬁﬁmﬁ%mwm%mm
quém A q I wEittes St %&@ Skl % o
™ ‘:I'IEI'(UEIT.'-’;E (MS PowerPoint) h !
(2) T TH TS (MS Excel) )
TEId GHIAZ (Adobe Acrobat) .. it
(4) U9 T TFEE (MS Access) i

Which of the following software is generally preferred most, to create an animated multimedia
presentation on the topic ‘Health and Hygiene in a Boarding House’ ? ?

(1) MS PowerPoint

; )

(2) MS Excel g

(3) Adobe Acrobat - 8

(485 Aovess a
@, 78 aft Y ot Qs SR (3RS, mw :mﬁ)a;m ﬁm%gwmiaﬁ
% g R v 3 forg Pl Aweam § ¥ AR St srefira el 4 9

(1) T TH T (MS AcceSS)' 2 W WA (M3 Worg)

) TS Rfrat (Adobe Premiere) L@ & (rapy)

Which of the following software is generally Pl‘efeﬂ'ed most, tq

W cipal
of the school, with some basic text and paragraph fm‘mattmg ( rlte a House Report to the Princip

bold, ltahcs ?
. , underline, etc.) ’
(1) MS Access (2) Ms Word - .

(8) Adobe Premiere - (4) Tally
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43, Frg yoreh _—(Bgme.dﬂj ) e
) Qaatrﬁag:;i'm B T
» ) o wE T
) T Seafdn I y €15
What is a Router in a computer sygern - (N

t?; An output device

(1) A calculating device (4) An input device

(3) A networking device

44, mﬁﬁW@ﬁ (Emal“[D) Wﬁﬁm% ?
(1) 3P 3 (Feforem) arch 1 18 S
D) S _ (siem) are e I S A
3) I @ (¥e-Rke g el F M < -
(@) IF . (STew) e e Mg g |
Which of the following cannot be a valid Email ID ?
(1) An Email ID having multiple numbers (digips),
(2)  An Email ID having multiple _ (underscore)t
() An Email ID having multiple @ (at-the-rate Kign)

(4) An Email ID having multiple . (dots) - %

49, B ke g o I HIH (share) 35{9‘ e (switeh) 31 arr Fawt % mw
Th FF o | I %{ﬁqﬁwm — it
SECEE et 3 8 fom s an vew

(1) Wuw (LAN)

(2) WY (MAN)
(3 dbt T (PAN)

(4) T (WAN)

(1) LAN ; ?‘e some hardware resources like a printer’
(3) PAN ? ) ;\VJ_AN
AN
46. ﬁn%rﬁaa T q B m |

”‘\“ﬂiﬂ (Cloud Copt{;utmg) 6T Th AN 757 % 9
6 3R & e ﬂqa Zqu Wﬂm % Ry
(2) ﬁﬁﬁ nghﬁﬂﬁ m [ﬁ
(3) $TET (A Yead) “*@eﬁa {3
(4) éﬁmaﬂtm—aqﬁa__{ %rd:rﬁg;H:
Wthh Bf the followmg ig no ! B:ITHH %

an g
(1) Real- U_I.Tlc_acceamblllt ﬁ-o d"antage of Cloud Computmg ?
(2) Improved collaboratm nh YWhem e and everywhere

(8)  Does not depeng o, Inte o Contributors ——

@) Backup and restore gy ata i etwork) ork) connectivit
&&y 'XQ.

—

~
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- HWA-2023/05
SR H1 AL, 0 3 (AD 1 o o R
( tificial Intelligence
(2) Absolute Intelligence
(3) Augmented Intelligence @
(4) Abstract Intelligence (g\\]
In modern day computer terminology, Al poi??]larly stands for *
(1) Artificial Intelligence .
(2) Absolute Intelligence Ii‘
(3) Augmented Intelligence
(4) Abstract Intelligence ; i
i 3 4 e i s 3 S (o governance) FRTE T T oo s

e Y
(1) ¥rdi €g |fgdr (Indian Penal Code)
(2) Ta-g AfUEH (Governance Act)

A3 3 & (FwnvA) arfufem, 2008 AT @g@ndmem)

49.

50,

‘A@
() 3 & Irfufs=m, 2000 AT Act, 2000)

Which of the following Acts provides initial E%al framework for e-Govemance in India ?
(1) Indian Penal Code o
(2) Governance Act W
(3) IT (Amendment) Act, 2008

(4) IT Act, 2000

e & 2 - T G (antivirus) SRR 1S 1 i e 72 2 7

ko o

(1) BHH (McAfee) (2) Té (Norton)

(3) TS (Kaspersky) . (4) 3t (Tally)

Which of the following is not a popular example of an antivirus software brand ?
(1) McAfee |, 2 @ Norton

(3) Kaspersky N @) Tally

R e (G O § ¢ @%ﬂﬂ“\wgﬁmmﬁnﬁf@ﬂﬁ

AT R ?

(1) GB<MB<KB 41u2> KB<MB<GB

(3) GB<KB<MB . (4) MB<I€B<GB

Which of the following is the correct ascending order of Moy iy
torage cap

(smallest comes first) ? Ty 1l“111‘- as per the s

(1) GB<MB <KB , @) KB<MB<G}3'

B) GB<KB<MB = @ MB(KB-::(}B
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WO IV /Part IV
POCSO qerT a7 a1 HY& W Hafira Wit @i srfarfaag =1 7=

Knowledge of POCSO and other children safety related Acts of Government of India

51. Fmafefan s w faam Hift :
(&) e o (wfdy aii fafee) sffem, @ﬁamﬁwﬁwﬁnﬁmﬁ%ﬁaﬁqaﬁm

HA R |

B) m%mmmm%ﬁaﬁmwmmmma.
= o e w2 § & wdt s e 9 HIC ﬂ

@ @) 3R (B) I T A (AT B, ST (B)WE 2
3) T (A) T & W TE B) (@) (A TE R, AR (B) e &

Consider the following statements :
(A) The Child Labour (Prohibition and Regulatlon) Act 1986 prohibits the engagement of childre:

only in certain employments.

(B) An occupation connected with automobile workshop and garages is prohibited for childre:

under the Act.
Choose the correct answer from the codes given below : -
(1) Both (A) and (B) are cprrect : (A) is wrong, but (B) is correct
(3) Neither (A) nor (B) is correct (@ - (A)is correct, but (B) is wrong
. - Q) .
52. <ifiieh ATl & FTerHl H1 & (POCSO) Frammaeh, 2020 % siarta fdi g =+ 2 2
(1) feai A @ At w0 8 SRRE R
(2) U (POCSO) wm%mmm@mmwﬁm_w
(8) w9 e wfufa g e =afe e
(4) ¥ foen gesh fdiw vy

1%

Under The Protection of Children from Sexual Offences (POCSO) Rules, 2020, who is a ‘special
educator’ ? ‘

(1) A person trained in communication with children with disabilities

(2)
(3)
(4)

The liaison officer in the special court for trials under the POCSO Act
The person assigned by the Child Welfare Committee
A special trainee on sex education

53. TR STHIULA-FTARI H WEW (POCSO) uﬁ% 2012 % HeY ¥ Toid HH it graE fif |

(1)
(2)
(3)

@)

Identify the incorrect statement
(POCSO) Act, 2012.

The definition of sexual offence in PO

(1)
(2)
(3)
(4)

arel sttt 3 i sy wave S @ aw i T8 2 |
et s e e 9 gy s e |
el (POCSO) aﬁﬁmﬁnmqﬁg vt

with regard toI'The Protection of Children from Sexual Offences

CSO Act is not limited to penetrative sexual assault.

POCSO Act provides every child, the right to be heard. :

POCSO Act is a special law.
POCSO Act is not gender neutra]
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54‘ ﬁﬂﬁ—’[ﬁgﬁ HUT W Fu:rr:[ Eﬁﬁq :
ﬁ[{j Vg

@) @8 fafu (@siam) siffem 5
hels 2013 st e wRa LA
B) 38 ‘wafth @ ) TR " for fifa 1 FeEwfa & gaﬁqn «
quﬁwﬁﬁg |3m{'“zﬁ-§i§1ﬁfa‘qamﬁﬁﬂ@w% ARl S

2 Ru T we # A 9 39w amm iR
1) (A 3N (B) A T (2{8 ) T 3, AfF (B) Gl 8
@ A (AT R T H B ,ggj(mﬂ@%*w(mmg
Consider the following statements : ()
") nts to the Indian Penal Code.

(A) The Criminal Law (Amendment) Act, 2013 matld amendme . -
at tr@_ffickmg with the consent of the

(B) It_ ax_nenti!ed the offence of ‘Trafficking of Persm‘r‘ko mean th
victim will not be considered an offence. H

Choose the correct answer from the codes given below : )
(1) Both (A) and (B) are correct 2 (Ais wrong put (B) is correct
(3) Neither (A), nor (B) is correct @) (A)is correct, but (B) is wrong

g5, 1 SR e ST i, 2og§ﬁq%ﬁaaaaﬁmw%?
(A) T STel AU FE AR ' o
(B) T AT JAIHR EEOT AT | |

() e et IR Hee ST Q

(D) =T = tn

:ﬁ%ﬁqmizﬁﬁaﬁwwwﬁﬁn: rr;d’ e 2

(1) Fad (A), (B) A (C) - (zmmm)aﬁt(m
(4y Fad (A) 3R (O)

(@) FE(A),B) MDD
The Commissions for Protection of Child Rights

the following ?
(A) National Commission for Protection of Child Rights

(B) State Commission for Protection of Child Rights
(C) District Commission for Protection of Child Rights

(D) Children’s Courts
Choose the correct answer

(1) (A), (B)and (C) only: po.
3) (A), (B) and (D) only (4), ¢ (A) and (C) only

J o -
6, et 3 forg e S (e e L B 2000 9 Reen & 4 s 3 AL

gy g o T 7 ()
' @M T fawm e

AE:I%: 2005 provides for the constitution of which of

from the codes given below :
(2) (A) and (B) only

A7 qu fuan FAfsra™ all
@) dra st e (4)y, TS TSk A
The National Charter for Children, 2003 was announced in accordance with the pledge in which of
the following ? @ '
-1.sha Abhiyan ) Sustai
(1) Samagra Shiksha y @ Stainable Development Goals

3) Teach India Mission National Agenda of Governance
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HWA-2023/5 5 % FTER 94 2020 F Wra A 7 R Fffea 3 # F&,ﬁﬁi
B o & e g, g
For watfies o 2 \O_(2) TEE Y X
(1) 5 7 gy 2 @ R g

59.

@) Srf T 7Y o was thefhlghest for which of the following indicatorg a8
The mortality rate in India in 202 ) P Pery

. e LM
Economic Survey Uflnim';{liam i (2) Neonatal Mortality Rate
(1) Mortality Rate under

3) E 1 Mortality Rate ”' (4) Infant Mortality Rate
arly Neonatal Mo .
TS afa e g (2019 - 2 F STER W1 8, S % W e sqame e o

(2) 931 (3) 940 4) 927
ngco ;3;5 Vo t,ionfﬁ Family Health Survey (2019 - 21) in India, what was the sex rati,
ng e Na |
birth ? fopatudans ) . .
(Sth 935 @ 931 (3) 940 4) 927

fyes s st s R &1 R Sififam, 2009%éﬁaﬁﬁw%%aﬁﬂaﬁq_mma

(Aj T FF IR i s ®h 0 YeH IR A e 1 wrauE w2
o«B) aﬁrﬁmﬁ’iﬁﬁqﬁmamlﬁwswﬁﬁm%mﬁmmmg.
(©) ¥ sififiw ¥ sfaa 63 1470 F S Y wfirer e e 8
ﬁﬁqm@ﬁéqﬁmmmﬁﬁmzl«ﬂh

1) Faa@IB @ WA @) T (o) (4) % (A)

Which of the following statements is correct r}e’é;rding The Right of Children to Free an
Compulsory Education Act, 2009 ?

(A) The law provides for free and compulsory education for elementary and secondary stage.

(B) Elementary education i defined in the Act as education for class 1 to class 6.

(C) The age group covered by this Act is between 6 to 14 years,

Choose the correct answer frop the codes given below :

(1) (Aand B)only (3 (4) and (C) only (3) (C)only (4) (A) only

mauﬁ&qmﬁ@ﬂs%muﬁﬁmmﬁwﬁmﬁmmﬁm

ﬁ e
By whom can a petitiop for ﬁ'ﬂ'l’g g Wj@ﬁﬁmﬁ UEHR 8

i ) e Th
Frohibition of Child Mpyrjg Ba’“l"élmg 8 child marriage be filed in the District Court under
(1) By any socially ConBeigyq 006 ?

i indjy; : il
marriage 'B_lndmd“ﬂl who has information about a contract being & ¢
(2) By either of the contractj, . :

(3) By the Station Houge omfe F o to the marriage, who was a child at the time of m“"if g:miz
(4) Only by the minor yop,, S O) of the jurisdiction where the child marriage was 50'¢
' ) Contracting party to the marriage
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62.

(25)

WM V/Part V|
Frres aﬁqﬁ'/l\dmlmstmtl\m AP

oL 1 2 S B i 4 e 9
(2) ma"ﬁaﬂumm

(3) ﬁl&ﬂﬁmh :
ymﬁmgmwﬁwwwm

Which one of the following is the main objective of Hostels ?

tltud

(1) To give relief to parents : ™M
(2) To take care of weaker sections 0
(3) To promote education % their studi
e their studies

(4) To provide students a peaceful and congeniﬁﬂenﬂmnment to Pursu

QAT SR 1 &7 U o1 Eha1 7 Lj_,‘*
(1) STl wHee g H

) m%@ﬁ@ﬁaﬁatﬁﬁmmﬁaﬁ:ﬁﬁfmm

(3) IrgEmTEA EfufaEi g ; i
(4) :wgiﬁu:mﬁr(aﬁﬂ)mm a SN
How can one improve Hostel Administration ? ? '

(i) By effective supervision

(2) By regular feedback from Hostel students b.ﬁ}i involving them in decision-making

(3) By discipline committees m .
(4) By providing adequate funds m

LN ,
P e F AR ? ut 8 i |
1) qmﬁﬂwaﬁtwwaﬁr{\/ 440)  UE W I AfeATd HHT B -
@) o e (4 T DO A AT R

What is the advantage of Hostel life ? Tl .'
(1) Socialisation and independent behaviour (2) = It is Government policy matter

(3) Lack of privacy . (4) It provides freedom to students

m%wwﬁﬁmﬁzﬁq-ﬁgtmmmaﬁm?‘

(1) T Eg T m%
@_qﬁwa@@m%mmwﬂ@

(3) el 6 fafia FHreafer HE m
(4) rgRTEA | -

What safety measures are to be adopted in a Girly’ Hostel ?

(1) Closure of gates

(2) Provision of Lady Warde
. (8)" Regular counselling for gir

(4) Discipline Committee

n along with strict vigilance
| students

HWA-2093/0
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65. DTIER § wid-afz A7 ® A /@ﬁ'@_@?
(1) mﬁmgq@ﬁaﬁmsﬂwm
@ et g AR A I T R

(8)  TRATRYE W Brga wwl SN
- et & s g AR PR T %Wm@wﬁg

In case of short-circuit in a Hostel in
(1) Has to wait for approval from higher authority
(2) Can only call an empanelled electrician

(3) Will abscond from the scene .
(4) Can even call a private electrician to rectify the prob]e{“ on priority

i i

emergency conditions, the Warden :

66. anqﬁmmmmﬁ%m@mﬂﬁw
(1) wmwéwaﬁmmﬁgﬁmaﬂtwﬂzaﬁrwa

(2) 3= H=T &Y . |
(3) 3BT TY-HER & f_?,'
@ fTafmswdassad rq:i

What should the modern Hostel room be like{?)

(1) Should be equipped with LAN facility an_gl—;lntemet along with hygiene
(2) Good furniture ] .

(3) Good ventilation o F:

(4) Regular cleaning s T

(1) TE=adl '
(2) Tl B ERER IR Fyfer viveg mw
(3) gafsa g i
(4) ﬁaﬁmﬁr(@a)-ﬂwmﬁ ﬁ
~ What is the main objective of Ho N
(1) Cleanliness Stel Mess ? o) ;
(2) To provide hygienic anq bal .
(3) Well furnished anced diet tﬂl‘ﬂle students

3

(4) To utilise mess funds Prop erly

; anmgﬁh
Y emmgg Wwwmmw]—ﬁjﬁjwmwl
(3) ' _ (2). T wffy frm g

Name the ‘document’ norma], @) oEmEm frm g

: Ug o
(1) Mess Guide ®d for B‘llldlﬁg overall cleanliness in the Hostel.
(8) Sanitary Guide ° . Oh (@ Mess Committee Rule Book
fr;\") (4) Hostel Rule Book

o7
b
™

+

o
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i

Q'

T0.

L

2,

w

CEIRUCU R AT — (27)
o EIGI R Y | v oy

(3) _ TSN gy 2y wa ke
> DAL (S E i o 0 P £ gt

(,{ l]ll 1“!]\‘\\ N 18 1 08/ ‘( I T om ill
1 ]L 1f

Which one

(3) Library books - C(;:: camerd
4y C

ot W _RE W s wm g 2

(1) GEI gdaa 2

@) Fafua S sfse s

(3) OTHEE H T T W@

4) W A’R fEerd Wiem seeey s
+H

5332963

“/-f

The role of Mess Committee in the Hostel is :
(1) overall supervision

(2) to conduct regular meetings

(3) to maintain discipline in Hostel 2

(4) to provide hygienic and cost-effective diet

35 ) ot e e da 7
(1) SRR @t O o) gmmE™ Tl

(3) HITEA |iAfd @ g afufd

Who is incharge of general upkeep and sanita%n of Hostels ?
(1) Executive Committee +4(2) Hostel Warden
(3) Discipline Committee H (4) Mess Committee

Wmmméw%:
§ 7% wticd 8

(1) smEHIea gl

L
) g frammaed 8

(3) maramﬁmtﬁ-wrﬁﬁ
(4) Wﬁa@ﬁ*mﬁ

1 Financial Rules (GFR) deals with :

Genera
from approved de

(1) Procurement of items
(2) Mess rules

(3) Sanitation in th
(4) Cultural programme? in

#15332963

e Hostel

the Hostel

B

WA 20230,
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ST BEETE 1 e F B FEe @ e Afedl
(1) %9 3 wigen aAl ‘(4) gmmﬁmﬂiﬁ{@mm
(3) Had oL | ﬂ
PO R ) atel 7
Who should be the Warden for Girls' Hoste (2 Female only 4,
(1) Both male and female (4) Atthe discretion of ¢gmpetent authority
(3) Male only 1;
. : e BT 8 ?
74) SEEM i GmE- g S €T
B RS S (@) SE-udE et sewEehd

@) "WE E E i = @ AE

’ i tel 7
W HATEIhS iaeposs Ofwg_e__ment 5 e ]I:O; et preparation
(1) Administrative purpose '(2) DBudgetp

i uirement
(3) To prevent loss and theft Audit req

4)

: M

75. oETEm § frefatea § @ f =ee ? O
1) AT deri & wleerd w @) Eﬁqq;mmamg

(3) e e & whead Fe ) g G g;)
Which one of the following purchases should be avoided in a Hostel ? ﬂ

(1) Purchase from approved dealers - (2) GFR provisions H:

(38) Purchase from approved budget (4) Piecemeal purchases

76. STEMM Sl NI Sl B2 ?

(- B e/ T @ Feutd

(3) Wa akE ¢ @) dqET

Who is incharge of a Hostel ? |

(1) Hostel Supervisor (2)  Vice-Chancellor

(3) Mess Secretary (4) Warden : 8
7. Wﬁmﬁﬁmmﬁm%? ro\]

kb R — 4,
(2) 3Tt VAR ST M . ta
(3) e B AL ) s g 7

(4) QTS 3 3758 TR ) o sy
Which one of the following ig the Gioak eé;_-
(1) The administration shoulq Provide
(2) Good quality food

(3) Providing Wi-Fiin every y,0

(4) Providing good library iy, the Hogte)

ential in the Hostel life ?
& non-threatening and conducive environment

“.6 (L i
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78. mﬁlﬁﬂﬁmnﬁ faﬁﬂ:@qﬁwmma?'
s U9 gl grr fafa wEafi wE
"@ 3 ommEE QA e A

g AT B M
(4) Y AW F Wreaw J m

How can one address teenage problems in Hmcls ?
(1) Regular counselling by professional expéfts
(2) By expelling them from the Hostel ;:

(3) Give full freedom '

(4) Through strict discipline

\,l W*'aﬂlﬁﬁﬁﬁﬁ (2. IS S
(3) WU W@E @) e R
w
What could be a common problem in Hostels&.’
(1) Lack of library books WO (2) Boring life
(3) Poor maintenance m (4) Lackof supervision
m ; :
80. BEEM U i o sl g & 2 S_’))
(1) 1) oHEE w8 — (2) gafsd a:e,m
W4 @memE

3 forerera # yaw

Hostel management does not include :

TN
e

(1) Hostel room allotment (9 Furnished bedroom

(3) School admissions | (4) Mess a‘]lotment \
8l. wﬁmﬁaﬁeﬁsmmwmﬁmﬁﬁm%?
() A T 2 "R | | 1
(@ ared {‘3 (4) TUFAEE

Who is authorised to receive stock in Hostel @ss ?
(" (2) Student incharge

(1) Mess Manager . £

(3) - Warden ‘ Lﬁ (4) Principal
82. HmEmE yHud i Hrfafed ﬂ@ﬂjﬁﬁ@

(1) =d el q@n

(3) gIMUE (4)

onsumable’ item in Hostel management ?
(2)  Cooking gas :
(4) Furniture

Which one of the following is a ‘¢
(1) Ceiling fan
(3) Notice Board



;i;'\'z\-zozaxor a1 =fge 9( "

+ T yaw & RO o rsgaea 3 sgan

ST # §e g 3 Zﬁ;ﬂﬁﬂ
(2)  om/om H I ﬁﬁ‘
(3) o wel 8
(4) <fed ugfa
What should be the ¢
(1) As per approved Hostel adm

5 i for Hostel admlssmm
rie
ission gmdelm@

N
(2) By date of birth of student
(3) Only outstation students f"-:
) ¥
4
(4) By lottery system i

84. BHEEW ¥ w1 I 9 } R g= & Rl 3, 6T w1 Fd ¢

1 H&mmﬁrﬁrﬁﬁwﬁﬁmﬁmm
(2) H% wra-fren F gEE T
(3) TIHQA o IFTeE! F

In case the Hosteler is seriously 111 the duty of thg Warden is :
(1) To wait for permission from the competent gthorlty

(2) Informing his/her parents g
(8) To ignore the issue ™M

L2
(4) To shift the Hosteler lmmedlately to the neaﬂest Hospital

mﬁm%&mw?

(1) efef @ I8 TR
). g el L B 4) 39T I i
What type of stock registers are normally maintained in the Hostels ?
t
(1) Asset Register (2) Tree Register
'(3) Cash Book : !) Consumable and non.consumﬂble
g6. _SHEM # WA T (i) o o

et g afifa il ﬂq <Al g‘} e

(3) 9T ;@

L@) o A

Who fixes the food meny ; in the H
(1) Mess Committee Ostel ?
(3) Warden

v
3t
(2) Mess Secretary
(4) Student leader
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g7. AW H FEfafea § @ @ mg Quanise’ R o

(1) %?:' wa“tfslmlzt

e 1 37 4) fa

Which one of the following is a ‘non-consumable’ item in the Hostel 7

(1 0il (2)  Refrigerator

(3) Wheat flour (4) Gas

88. Wﬁm%%ﬂ%ﬁﬁmiﬁmmﬁﬁﬁwmmg?
(1) BHEE wfHfd % @=-fads w
(2) TS IAEY Yoh THA Hh
(3) Had Tk faeiy Soft & ol @) awefed wk
\)yﬂﬂz%mnmmﬁﬁtr@mzﬁﬁam

How can one handle large number of stﬁ]:lents in Hostel admissions *

' (1) Hostel Commlttee, at its dlscrctlog
(2) By charging excess Hostel fees m
(3) By allotting only a particular cate@y of students
(4) By restricting the number of stud#ts based on merit

89. DT % OTH/SEI ﬁwmmﬁmmw‘% /2
(1) _mer-fan & @y i st e Y
@ T TR A

3) v fees gra fafia SEEicn S
(@) 31 S T

I-iow can one handle indiscipline amonﬂ{ostel students ?
(1) Regular interaction with parents m

(2) Effective supervision Lr‘j

(3) Regular counselling by professmn%experts

(4) Enforcement of strict discipline

90, TEEE H e-Td T 1 gifadl 6 R i R o
(1) gUEEE (2) =9 o™
(3) HETEH AT (4) W affy
T
Who monitors the attendance of huus& kt'rplng staff in the Hostel ?
U )
(1) Principal (o) (2)  Student incharge
(3) Assistant Warden ¥ m (4) - Mess Committee
m ’
LN
sl
CH
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Part VI
age Competency Test (General English)
g‘u

s to tl yrd.
9 : ﬂnln o the given WO
L Choose the word nearest = e .
Intercede tiate . (3) Infiltrate (4)
(1) Reconcile i R . d Inten'ene
92. ( .. in meaning to the given word. :
. 100se thewtef—-————— ‘
Tl?ﬂl‘s"t'm » @) Lanky (3) Stalwart (4) Plump
ng ) _
93. Identlf} the correct form of the T;nsp l_ﬂs_:(l;!?_’i;;}_‘“;_nﬂence.
; the office ve 35 3 el
?’;’)h\ lglldltl ; }:fu_t;'e;;? in _ (2) Past Continuous Tense
as eriec e - .
(4) Simple Past Tense
(3) Past Perfect Continuous Tense t'"] i < P
94.  Fill in the blank with the cm—rect prepOSItIQp}
The group of actors drove_—— the foreg:;iat high speed. !
(1) through @ in "3 over 4) at
95. Choose the correct meaning of the underlined idiom. _ ’
Tile speaker broke down in the middle of his speech.
(1) looked at the audience ' (2) fal_led to sp_reak
. (3) broke the mike (4~ stopped midway
@ Change the given sentence from Active Vaipe to Passive Voice.
The batsman hit theball forasix. O
(1) The ball was hit for a six by the batsrhan.
(2) The ball had been hit for a six by the hatsman )
- (8) For a six the ball was hit by the batsfifan.
\(4) The ball was being hit for a six by théix}atsman
97. In the following sentence, identify the parﬁlwhlch -contains an error.
Thhg_\fggfarerf enquired from me / where / I lived
a b .
(1) e @ b @ T e Y e a

98. Choose the correct Article.
1}onest politician is g rarity these days. )
1) A A )
( . (2) An O (3) Any (4) The

99. Choose the correct form of the verb to go the Subjeclt-
_On the day of the departure mofm boat's crew down with fever.
\.}J/WI” be (2) was |_r; (3) has been (4)  were

n :
Y ie ar:: tlglz ;l:;f]%?'_;mz; Orrect order to maké a meaningful sentence.
B. ' Isaw ayoung gheph, q
C. inthe early dawy
D. herding the catt],
(1) D,C,B,A

D

. B,A O
@ ABCcp. @ ©.B,D,A @
- (]
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fﬁh VI
WITT TR wﬂﬁm (wrrn fe))
ﬁ‘”%wwwmmm:r}um 103) % TF T

maaﬁm%ﬁﬁum\“‘?ﬁmwmﬂ? e s sy LT ST
F\W‘W“ﬁWmmm__um aﬁ.aﬂt mmﬂﬁﬁﬁtﬂ“; mTffWUﬂ'ﬁ’nﬁn fum—;

“__‘_h'_-"'_"——————_.

mﬁm?ﬁnﬁﬁm?ﬁawﬁm% lsqmw%——maﬂmqmwmamqhm

ﬂm%m———m‘*ﬁmmﬁﬁ?ﬁvﬂfﬁaﬁaﬁwmmtﬁm@ 2
101, =5 1 A s § |

(1) *9d 5 o

(2) waa fen -

_® WIoH, T% 3R sy f(;;%

4) Fad Wm0 {g

=i

102. FI F5eiteh R A Rherds o v g 3 o M ZATIEN

()T g e @ WA

(3) e ymfy
‘ &) = o

103. W 1 I A e oftw wr foer 2

W SR @ Ty

&W,Waﬂtﬁ# o @ FEE e Y
104. Frafafas § & S g9 s@m@ R 2 ‘

() i - degey T

(2) HHYR - g 9u™

(3) 3w - 3rgAfivTea THT™

(4) ST I - FHURE FUE

#1533296

105. frtfefiaa § & wiom wfu aren e 77 #
(1) arfy
2) foms
(3) 1o
A4) WTEY
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%
;
i

- i a; ﬂﬂq )
HIWWA-2023/C0 Ay T /
3 aft ﬁﬂﬁ

106, fmfafud i
() e

‘)yf-‘mfaﬁasgsnwmqt

@)
(3) @@ & A K

) amsmﬂqtam‘f

109. megﬂﬁmg .

(1) amTa - f4atd

110, Freferfia # & T & vt 7 2
1) wH
(2) Il
(3) HIHAL
(4) aﬁ@/

#15332963 #15332983

#15332863
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am VI1/ I art V1 1 L'lnguage)
B‘ f lﬂnﬂ r
”&[u[ (aﬂlq “lql) ILﬂ“gullg(‘ (Jl!l]]l)ttcncy I (

08! SRR . |
: Al | Hafd oo 3
I 10 397 (s s 111 120) 7Sy e v o ST T %

firt oft, Mﬁﬁ%mwﬁﬁmmwmﬁm%ﬁﬂﬂmﬁw (%" FEm 111
120 79) 35 e 1 e e 6 e S T 1

ﬁ?ﬁm@ﬁwwﬁmwﬁ%%, e 5w w (OMR Sheet) T TCAHT T
feman T |

The booklet has 10 questions (from serial gi‘) 111 to 120) of Language Competency of
each Regional Language, however, candiﬁg’tes should attempt the questions (from
serial no. 111 to 120) of Regional Languag‘_:?,which is mentioned on their admit card.
No change of Regional Language is allow;*t_i during examination. The answer shet;t

(OMR Sheet) of the candidate will not be evaluated, if the candidate has attempted

questions of any other Regional Language.

#15332963
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| Part V1
Lang‘uage Competency Test (Hindi)
K i TEY I T HTTRT 79t (11 - 113)57”2%3“
Wwi}ﬁ%m%aﬁgm ﬁzﬂi‘iﬂijfﬁl@‘%mﬁ
f@rﬁ'ﬁ%m%mam _/,zﬂf
z’ﬁ' m mﬂm—ﬁhméaﬁﬂ
5 m
Wﬁmﬁﬁuﬁ@w%m
H BN iy 1 (@ e wmfa % FT
ﬂméﬁ%m N () gt s
j19, TUTS BiGAL T 1 o wiife - H
(). < B I @) g w2
(3w HEe o (4) <d=g =&l o1
13, el F1 T H |
RORCLIERS i 2) T faeE g
3) TA-9Y H FHEAT I (@) wa PR g
e, , o) :
114, Frerfeifiaa o =g &1 watart 757 R g
(1) wIh (2) digy o (3) GurR @) @
115. ' Y Yg 9 3 m

e a@%ﬂ%tw’ - 6 firgarf g€ |7
(3) TRTCHTIGT B g9 Hed S WLl (@) w@ gy firee 2 |

116, ﬁnﬁiﬁaﬁmﬁ%m@aﬁgﬁiﬁm%: |
oY) ﬁﬂﬁwqﬁma& T (2) TR H AU T@H Tl - IR
@) qﬁﬁﬁﬁwwwﬁma’ﬁw b (4) R = B - FA

117, Freferfiaa 3§ ‘ome veg 1w faamrd @ :

(1) W | @ T m @ AT

' 0
. FAE TR O

118, frffiga & ws 1 gite ¥ G = N (3 wa:feafa (4) e

(1) g @ IR L 3 |

e it v #

119, m@ﬂaﬁﬁ%wﬁmm ~ (3) @M (4) feraror

(1) mw (2) 3+

120.%1n¢qumﬁm'§m%' (3 W3 - Wl (4) wefis
) - Ydishl
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Part VI .
Language Competency Test (Khasi)
™M
. » s ien ‘Lehroh’.
117, Jied ‘m ka kyntion kaba iajan ha ka j-mgmut bad l&ﬂcy;tl'inh -
(D Mutlop (2) Lehkjeh (% alky arong
112, Jied 14 ka kyntijen harum kaba iajan ha kajingrm[ﬂ)ﬂd ka kylftien Dage
(1) Pynshitom (2) Jynjar (3#); Sngewsih (4)  Bamja
113. Kano na kine ki kyntien harum kaba japyrshah ha ka jingmut bad ka kyntien ‘Kynjai’ ?
(1) Bitar | (2) Sngewmeng
(3) Ehrang (4) Satar
114. Kang na kine ki kyntien harum kaba don ia ka jingspel dak kaba bakla ?
(1) Pynloit (2 Wallam (3) iing syiem (4)  Khunlung
115. Kano na kine ki kyntien harum kaba don ia ka Ji@spel dak kaba bakla ?
(1) biej (2 ieid %} sdie (4)  thylliej
116. Kano na kine ki kyntien harum kaba iapyrshah Qka Jingmut bad ka kyntien ‘Atlukhj’ ?
(1) Sbun (2) Jemnud @ Daini (4)  Tipsngi
117. “Ki khynnah ki jasum ha wah”. i
Ka kyntien “asum’ ka dei ka jait verb aju ?
(1) Reciprocal verb (2) Intransitive verb
(3) Causative verb (4 Transitive verb
118. “U briew ba shong hapdeng surok u jam pangnud ia la ka khun.”
Kdew ia ka adverb ha katej ka senten. .
(1) pangnud (2) hapdeng @ khun ‘ (4) shong
119. “Sah noh hangne bad ngi”, g
Ka kyntien ‘hangne’ ha kate; ka senten ka dei ka(‘}ﬁ)t adverb aiu ?
(1) Adverb of Place Adverb of Time
(3), .Adverb ot Degiee ¥ Adverb of Manner
120. Pynbeitia kane ka sentey harum ha ka rukom kaba dei :

A. ba phinfoh
B. jingmutbha

K. pynleit
D. shong ha kyndong
( KBAD @ L@ ‘Kpap (3) DAKB (4)  ABKD



